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QUESTION BOOKLET

This question paper contains 170 questions. /$F I THH 170 TH & |
All questions are compulsory. / T I3 31f4ard & |
One question carries half mark only. / T I4 o T Shaet 3TTe 376 2 |

Maximum Marks : 85 AfHan 37 : 85
Time : 2 Hours Uy : 2 Tud
1.  NITI Aayog is a/an
(A) Constitutional body (B) Statutory body
(C) Advisory body (D) None of these
Hifq s R T
(A) Gaurtes fepm (B) durfes fHem
(C) wei-grEt fem (D) T IS &l
2. When can a contract be discharged by operation of law ?
(A) Death of a Promisor (B) Novation
(C) Difficulty of performance (D), Afternation
el fopet TfergT o1 I ST o TRETTH &, [T ST Hehdl & 2
(A) TRl F=HeTT sl g T (B)s TR 8H W
(C) ForeT d e g (D) e gH W
3.  What do you mean by “Quantum Meruit” ?
(A) Breach of contract (B) As much as earned
(C) Damages (D) Restitution
FeTeH A T TRl 993rd & 2
(A) dferer (B) 31 & a1 HHT (TS 1l U IS
(C) TerEm (D) Segor
4.  Insurance sector in India is regulated by
YT § T & 1 e femarm ST 2
(A) RBI (B) SIDBI (C) SEBI (D) IRDA
5.  Finance Commission is constituted under which article of Constitution of

India ?
Tort ST =61 e WA GiaaT o fohd 3T=eg o STwaia fohal TR & 2
(A) 324 (B) 280 (C) 325 (D) 368
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6.  The process of commercialization involves the
(A) Deciding product characteristics and package
(B) Building up a appropriate marketing mix
(C) Introducing product in the market
(D) All of these
aforseieneor St sfshar & ffed @
(A) oot qT 3cdTg h ferarwanadt =1 girwerm
(B) ST HIehe i o1 fomfor B
(C) TSR | IeUTE T T HEAT
(D) I @t

7.  Devaluation signifies
(A) lowering purchasing power of money
(B) lowering internal value of rupee
(C) lowering external value of rupee
(D) lowering value of dollar

T ek LT B
(A) T hi 6 S1fed TSI (B) ¥ H-3TTaRe Hod ol THT
(C) T < SRl oo Wl THI (D) STFEHIAH T

8.  Deficit financing
(A) Stabilises prices
(B) Reduces money supply
(C) Encourages inflationary tendencies
(D) Reduces budgetary deficit

T
(A) SHidt i FRX ot 21 (B) HgT-3AT9f <! ¥ T & |
(C) Thifer hr el <l MicHTTed sha & |(D) S e <l A LT ¢ |

9.  Which of the following is a fee based service ?
(A) Ventuse eapital (B) Factoring
(C) Bills'dScounting (D) Portfolio management

=1 o & o Toh Yooh SATeid el @ 2 ’

(A) SREYST  (B) I (C) wgTehd fae® (D) dICwhifcrl e
10. Merchant banking service in India were started in the year

e B 72 A G s B

(A) 1967 (B) 1975 (C) 1973 (D) 1990

11.  Which one of the following is not a non-banking financial institution ?

= o @ i it ue R-dfeh foxfia aeen g 2
(A) SIDBI (B) NABARD (C) PNB (D) UTI
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12.

13.

14.

15.

16.

17.

18.

19.

20.

The mutual fund concept was started in India in the year

(A) 1949 ~(B) 1956 ~(C) 1961 (D) None of these

YT H RITY3TS e ohl TN TR hi 715 T ’

(A) 1949 (B) 1956 (C) 1961 (D) 0 9 s &l

The primary aim of leverage funds is to capital appreciation.

(A) minimize (B) balance (C) maximise (D) None of these
S I WA A& ISl eI -a8q

(A) SHBEATR | (B) HGferd FTAL |

(C) Ifhad HETR | (D) 34 ° hIE Tl

ICRA was set up in the year

351 (ICRA) w%ﬂ Toram o em oy

(A) 1986 (B) 1998 (C) 1991 (D) 1987

CRISIL was set up in the year

forfireT (CRISIL) =enfua fepanm o o a9

(A) 1920 (B) 1841 (C) 1987 ¢D) 1991

Which of the following does not involve any interestypayment ?

(A) Creditcard (B) Debitcard (C) Cheekieard (D) None of these
e o @ fopme foreft = o1 Yo wif=ifed agie @

(A) hfgeHE (B) sfesdE  (C)NIh e (D) 0 9 s A&l

If quartile deviation of given set of data of 20 observations is 12, then value
of standard deviation is

Ffe 20 Jervn o feu e fopet So1 W= 1 wqeie faae 12 8, @ ueh foeem
HIAE &

(A) 1.667 B) W8 (C) 8 (D) 32

The area under normal.distribution covered within p + 3s limits is

1+ 3s HHT o e, ST forawor o 31efi e 8w &
(A) 0.6827 @B) 0.9545 (C) 0.9973 (D) 1.0000

Beta equityaS positively correlated with

(A) Firm grfowth rate (B) Operating leverage
(C) Financial leverage (D) None of these

ofieT sfaard) T ®9 9 Hg-Gdid 8

(A) ferafgmE (B) UfEmer fotais &
(C) fochra foreer (D) 3T & IS Tl

Depreciation is expenditure.
(A) wvariable (B) semi-variable (C) fixed (D) None of these

HeABTE Th Tug | .
(A) ufEdfa  (B) Fd-ufEddw(C) fer (D) T 9 s &l
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21. Calculate re-order level from the following :
Safety stock : 1000 units, consumption per week : 500 units. It takes 12
weeks to reach material from the date of ordering.
(A) 1000 units (B) 6000 units (C) 3000 units (D) 7000 units
T Y 3ATEX TR T 0T HIRT
U T ;1000 3ehTSAT, ST TdTe @WUd : 500 $ohreal, el aF i fafr &
arfl ugeH § 12 9wdTE & & |
(A) 1000 FHTEaT (B) 6000 1Al (C) 3000 FHTAT (D) 7000 Fbrsat

22. Determine the firm’s Total Asset Turnover (TAT) if its net profit margin
(NPM) is 5 percent, total assets are ¥ 8 million, and rate of interest is 8%.

®H 1 HoT TG H3TER (TAT) Ferifere | afe saehl a1 @ €| (NPM)
5 gfererd, et aiEmfeRt T 8 SUe qT &I Sl g 8% B |
(A) 1.60 (B) 2.05 (C) 2.50 (D) 4.00

23. Determine Break Even Point (BEP) if sales is I 1,00,000nvariable cost is
% 50,000 and profit is ¥ 20,000.
(A) 60,000 (B) ¥40,000 (C) T 80,000 D) None of these
Frfasg fo=g (BEP) 3Ta =i, Afe farsht % 1,00,000; @ 250,000
A>T @ T 20,000 B |
(A) 60,000 (B) 40,000 (C)-3IR806,000 (D) H I HIE TR

24. Which column of cash book is never balaneed ?

(A) Discount column (B)» Cash

(C) Bank (D) Petty cash

HIT e <Y I Tt HicTd B Afefd Fei<hl ST B 2

(A) SFHEH  (B) Uhg (€) 3% (D) ¥
25. Example of operating systefi is

(A). FORTRAN (B)+ UNIX (C) COBOL (D) None of these

T 1 ITETID

(A) ®IEH (FORTRAN) (B) e (UNIX)

(C) HEA(COBOL) (D) T & IS &
26. Functions of educational philosophy is

A) normative (B) critical (C) speculative (D) All of these

&I fOTeh CIITE 1 HRI% &
(A) THfea (B) Twfesa (C) WRElca (D) Jaft

27. Individual aim of education aims at making a child

(A) cooperative individual (B) isolated individual

(C) self-realized individual (D) follower of God

T3requr A1 ST e STeTeh <l T T Hhiga 2 |

(A) TEa sxfed (B) Ushifereh sxfe

(C) g AT (D) S T TR
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28.

29.

30.

31.

32.

33.

34.

“Rising knowledge to wisdom is real education” was said by
(A) Rig Veda (B) Sama Veda
(C) Bhag\vadh Geeta (D) Chhandogya Upanishad

“FH I Flguar i 3R I3AT (Rising knowledge to wisdom is real education)
ITEATreh 180T 87 SHal 7T o1

(A) HEgH (B) HmegH (C) wWEglaid (D) SiemuFvgd

Who is the profounder of Dvaitadvaita ?

(A) Madhva (B) Nimbarka (C) Vallabha (D) Gautam Buddha
H 9TOTd S g3 8 2

(A) wred (B) fm=meh (C) wea¥ (D) MaH 94

The ‘Wardha Scheme’ is also known as by which of the following schemes ?
(A) National Policy on Education (B) National Scheme on Education

©) Kotharr Commlssron (D) Basic Education

YT FIoHT bl FtIiad 4 4 Topg e 4 ft ST S 8 2

(A) Tereror @ ag HAifa (B) Tareror ox Wi Fietn

(C) I3 HHiwH (D) 3T e

Who said this, “The teacher is not an instructomor tdsk master; he is a helper
and guide” ?

(A) Aurobindo Ghosh (B)y Mahatma Gandhi

(C) Rabindranath Tagore (D) Vivekananda

ferd I8 el % “[3187Teh pIS Ueh THCITepal AT TR ARBH! & &, 98 & Th
eI A TEE 27 7

(A) sfe=IaN (B) TRl MER’ (C) WasAe &R (D) fedehre
Modern philosophy synthesises

(A) knowledge (B), truth (C) sciences (D) None of these
3MEeh I HIYUlHT & ’
(A) T (B)" & (C) famm (D) & & ig T

A child 1s"working very hard for her examination. Her behaviour is an
indicator of her

(A) sharp cognitive abilities (B) high achievement motivation

(C) very busy schedule (D) de51re to impress her parents

Teh STfeTehl 0] TETT o foTu Sigd i e il § | 3Hh! SHTER Yo & 36
(A) ?ﬁwwﬁaﬁm@ﬁw (B) 3= IUATeY 7RI <1

(C) 3TId S ShIIET (D) TTar- U =t gerTferd o <hl 3T o

Socialization requires
(A) teachers (B) rewards (C) reinforcement (D) All of these
ATHTSHRUT B SATEaeTehdl Ut &

(A) iegsisht  (B) TEBRIH  (C) Yoo (D) Aaft il
7 Code No. : C-488/2018/Series-A
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35. Participating in the removal of illiteracy is a

(A) social change (B) conscience change

(C) cultural change (D) None of these

frretert 1 QU e # TRl & T

(A) HMHIN dcelTd (B) 3A=1:HI0T SgcATd

(C) HTEhieh SCTa (D) 8 O His &l
36. National Policy on Education (NPE) was started in

reror @ Tt fifa (NPE) 3ty <6t 718 a9

(A) 1985 (B) 1986 (C) 1987 (D) 1988
37. Right to Education Act was passed in

Tareqn =1 afrepr rferfam urfta gam o

(A) 2007 (B) 2008 (C) 2009 (D) 2010
38. A child is born with some

(A) qualities (B) ego (C) innate drives, (D) All of these

Teh Hefeh ST ol & $© &% 9y |

(A) T (B) ¥

(C) wema g (D) @l

39. What will be the 1Q of a 12 years old child,'whose mental age is 9 years ?
39 12 o s1etsh 1 [Q T B fSTEeh! Hifees 39 9 ad 8 2

(A) 70 B) 75 (C) 80 (D) 85
40. An essential aspect of all learning,is
(A) emotion (B) imitation (C) motivation (D) association
ERERCIECI DRV

(A) W&t (B) | 3T (C) AferSom (D) grEed

41. Children learn newswords for specific objects mostly by

(A) insight (B) imitation

(C) trial and.etror (D) conditioning process

o= TafeTs Tomzreh foTe 3 w1eq) b1 ¥fi@d &, 3ferehrerd :

(A) Fr<gR g (B) 310 gl

(C) Y™ F IR g (D) 3TIHe iR g
42. Learning disabled children are

(A) low in intelligence (B) slow in activity

(C) deficient in using potentials (D) None of these

HREH | 318 9= B1d &

(A) T ger (B) We H-haTdt

(C) &9aTai o U S70f (D) 0 U HIs &l
Code No. : C-488/2018/Series-A 8
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43.

44.

45.

46.

47.

48.

49.

50.

The gland which plays a key role in the development of personality is
(A) pituitary (B) thyroid (C) adrenal (D) thymus

S ferdedl oh forehre § Y& Yfient (T arefl Tfr 8

(A) Tigelt  (B) umis (O) wgTa (D) urEwE

A child attitude ¢ I don’t care’ is a type of behaviour, which can be called

(A) aggression (B) defence (C) denial (D) retrogression
FTcTeh 1 WAT ‘8 YIETE 81 Shidl’ Ueh 39 YK hl STIER & Sl gl SITdl @

(A) 3TThTHS (B) &I (C) U (D) U9=EA

Introspection method lacks in

(A) reliability (B) wvalidity (C) objectivity (D) All of these
311en - Frfregor wgfar o @t 2

(A) TarvawrfiTar st (B) dedn <t (C) TEIhAT bl M 37 Tt i
A teacher should play the role of a

(A) facilitator (B) philosopher (C) leaderp (D) authority
ush frerens w1 wfirent faurh =fEe

(A) IS H  (B) SN H  (C) ehelshl (D) T st

Wood’s dispatch, an important document, was released on

g 1 feia’ — ush Ueaqul cxaTas, Sl femarm Tram o o

(A) 1850 (B) 1862 (C) 1854 (D) 1870
Education falls under which.list of the Constitution of India ?

(A) Union list (B) State list

(C) Concurrent list (D) None of these

Taregor v o wfayfeh! fopd Tt o 3T=wia STaT 8 2
(A) Waggh \ NB) TEEH  (C) wEdigH (D) THE HE A

If you would®e a teacher how would you like to behave with your students ?
(A) Autocratic (B) Democratic
(C) Laissez-faire (D) As the conditions permit

gfe 319 ues f¥1e7es gia a1 379 e o a1 fopm Tenr <hT 310 o6d 2
(A) W=sRl  (B) SHaitee  (C) MeEaushit (D) uifedfcR s 3gEd

Teaching professional norms are developed by
Tareqor St o TR AT Wi Tkt fomam 3

(A) NCERT (B) UGC (C) NCTE (D) CBSE
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Directions (Q. Nos. 51 to 55) : Choose the word which is QOpposite in meaning to
the given word out of the four given options (A), (B), (C) and (D).

51.

52.

S3.

54.

5S.

Deleterious

(A) delaying (B) beneficial

Confess
(A) grant (B) concede

Robust
(A) vigorous (B) rough
Specific
(A) accurate (B) vague

Agitated

(A) superior (B) calm

(C) cold

destructive (D) glorious

conceal (D) acknowledge
feeble (D) feline
inspired (D) granted

(D), self-possessed

Directions (Q. Nos. 56 to 60) : Choose the word whichhgives the Correct
Spelling out of the four given options (A), (B), (C).and' (D).

56.
57.
58.
59.
60.

(A) weight (B) weit

(A) depriciate  (B) depreciate
(A) perjery (B) perjury
(A) committee (B) comittee

(A) recommended
(C) reccommended

weigt (D) waight
depresiate (D) depreceate
parjury (D) perjary
comitte (D) commettee
recomended

recommendid

Directions (Q. Nos. 61 to 65) :"Choose the most appropriate word out of the
four given options (A), (B), (C) and (D) to fill in the blanks.

61.

62.

63.

64.

65.

Success is on hard work.

(A) depend (B) dependent (C) depended (D) depends
Ram going to the post office with Shyam.

(A) are (B) is (C) were (D) will

I was delighted your Success.

(A) at (B) to (C) in (D) on

I studying since morning.

(A) has been (B) has (C) am (D) have been
They not know me.

(A) are (B) do (C) does (D) is
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66.

67.

68.

69.

70.

71.

72.

73.

According to Mahabharata, who founded Katoch monarchy during 1400 BC ?
(A) Shambar (B) Susharma Chandra

(C) Divo Das (D) Bhim

HETIRA oh STTEAR, Tohe- 1400 BC o G e Tsiad shi Hid W& ?

(A) R (B) gmwi=aR (C) Teae™ (D) +m

Which of the following places was the capital of Jagatsukh during ancient
period ?

(A) Kuluta (B) Trigarta (C) Suket (D) Mandi
frferiaa 1 T TR H Sag@ <hl g1 T&T 2
(A) T (B) frmd (C) gd (D) et

H.P. became Union Territory in the year

fErTaet Uyl ford oY Ho-Smiid Jexr -1 &1 ?

(A) 1948 (B) 1951 (C) 1952 (D) 1956

The driest place in H.P. is

(A) Kalpa (B) Keylong (C) Spiti (D) Pangi
T <h1 Tk GET TJH &

(A) Hedr (B) el (C) foufer (D) urft

The state located in the west of H.P. is

(A) Tibet (B) Haryana (C). Punjab (D) Uttar Pradesh
o= yew o ufvem O @ U= 8

(A) ferssra (B) wfmom (C) 9= (D) IR I

The largest man-made lake m H-P. is
(A) Renuka (B) Khagjlar (C) Chandratal (D) Govind Sagar
feuTare yew § ad fta gda s e 2

(A) T B GisER (C) =rgard (D) Tifdg @R

The river ‘Chenab.” during Vedic period was known as
(A) Mukteshwari (B) Giriganga (C) Arjikia (D) None of these
aifees et o fRfATe T 1 ST ST en

(A) gvall hImd (B) fiferm s am &
OREELEERIETEE: (D) T ¥ =g T
The Cholang peak is located in the
(A) Zanskar range (B) Pangi range
(C) Dhauladhar range (D) None of these
TN =T AT B
(A) =R qad-oft | (B) U} ueqTet o
(C) eieTer yeia-2vft § (D) T ¥ i T
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74. The ‘Panjpulla’ picnic resort is located near
(A) Dharamshala (B) Dalhousie (C) Nalagarh (D) Sundarnagar
“gargern” fuehfep e
(A) YT o THY (B) SIS o Tifig
(C) FTANTE o THg (D) H<TTR % FHiq

75. The regional centre of Indian Bureau of Standard is located at
(A) Mehatpur (B) Nalagarh (C) Parwanoo (D) Shimla
TTTeh S T 81 g
(A) HgaR®Rd  (B) A@rGH  (C) WAMH (D) RmenH

76. Who laid the foundation of Rang Mahal of Chamba ?
(A) Umed Singh (B) Jorabar Singh
(C) Sahil Varman (D) Lakshaman Varman
=T | UTHES o1 et fohee @ ?

(A) g Tz (B) SR fagd (C) @t auia (BN ST&wor v 3

77. The battle of ‘Bhangani’ took place between Guru.Gobind Singh and the
raja of
(A) Bilaspur (B)  Bushahr C) Kangra (D) Jaswan
I 1 Fg 7% el fifg 3R fore T = weagegren -
(A) ToamE@ss (B) &S (CY)\HITET (D) SEaH %

78. In which year Rampur Bushahr riyasat,came under the possession of British ?

Tore o o TR ST femea ferfes stifege < srefi amh 2

(A) 1815 (B) 1858 (C) 1905 (D) 1935
79. Who among the following*didnot visit Shimla in 1921 ?

(A) Bal Gangadhar TilakK (B) Lala Lajpat Rai

(C) Madan Mohan Malviya (D) Mahatma Gandhi

1921 % T4+ H © fepgaRIteT e Tl febarm o 2

(A) TR e (B) AT ATSIIA

(C) T Giee HieTe (D) WETeHT Meft

80. In which yeawPetterhoff was destroyed in a major fire ?
form T o dietai® we v 1fe o fame gam an 2
(A) 1978 (B) 1981 (C) 1983 (D) 1984

81. Who became the Chief Minister of ‘Independent Government’ set-up in
Theog in 1947 ?

(A) Devi Dass (B) Kharak Singh

(C) Dr. Y.S. Parmar (D) Surat Prakash

1947 ¥ 43T H TlSd T TR H ohiH HEIHAT 41 T ?

(A) <Hte™ (B) @e fie

(C) €. 9¥.TH. TR (D) 9d Yehrel
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82.

83.

84.

8S.

86.

87.

88.

89.

Gaddis are considered as the descendants of
(A) Thakurs (B) Brahmins (C) Khatris (D) None of these

T T F I A MU g
(A) 3FAH  (B) F@EWiH (C) WEH (D) TH Y HE AL

Kulindas were originally the people belonging to

(A) Kullu Valley (B) Kangra Valley
(C) Shimla and Sirmaur hills (D) None of these
e Jord: =1 | a9 W et a9

(A) o Emwd (B) shireT |

(C) fermern e fowd i wrifeat (D) T8 A HIg T

Sobha Singh Art Gallery is located at

(A) Naggar (B) Nurpur (C) Manali (D) Andretta
T g ettt safer 8

(A) TRH (B) TRHA (C) T A (D) 3= v

The state museum of Himachal is located in the building famous as
(A) Book House (B) Allersie (C) Mansion (D) None of these
feHTae o1 TS Tyger e gufig va 4 8 98

(A) SHEEE  (B) Ul (C)." et (D) 8 T HIE L

The first hydroelectric project in Westetia Himalayas was located at
(A) Mandi _ (B) JogmderNagar (C) Pandoh (D) Baner
gfyt feHTerd T Uget grsgisciiaesd Mside AT o

(A) "EH (B) i T (C) USie ™ (D) «FRH

Which is the largest applegrowing district of H.P. ?

(A) Kinnaur (B) & Kullu (C) Shimla (D) Mandi
TICET T T (4eh 8 ICITCh

(A) TohIR (B) ol (C) femen (D) #el

State Councilef*Education Research and Training (SCERT) is located at
(A) Shimla (B) Mandi (C) Dharamshala (D) Solan
Tareqor SrgEYT qen ufdterr i U= Uit (SCERT) 3aferd 8

(A) Bmend (B) TSI H (C) 9 ® (D) G H

The first Himachali honored with Padmashri was

(A) Kailash Mahajan (B) Charanjeet Singh
(C) Dr.Y.S. Parmar (D) Dr. D.S. Rana
Yensft @ graTd qgen fenmaer st o 0
(A) heIT™T HESH (B) =i g
(C) Si. 9/.TH. TR (D) I g.ug. qum
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90. As per Census 2011, population density (person per sq. km) of H.P. is
SFITOAT 2011 o 3TTHR feuTeret Y31 sl SHae o1 (Sfh wid o i) 2

(A) 109 (B) 116 (©) 121 (D) 123
91. Who is the newly elected President of Badminton Association of India ?
(A) Himanta Biswa Sarma (B) Devendra Singh
(C) Ajay Singhania (D) Anbumani Ramadoss
W o SSHe THIRURM o Fafaifd 3eas i g ?
(A) fewian forea smf (B) <u fae
(C) I et (D) SAgw THRE
92. Who bagged India’s first medal at the 21 Commonwealth Games 2018 ?
(A) P. Gururaja (B) Mirabai Chanu
(C) _ Virdhawal Khade (D) Srihari Natara]

fere 219 TPHYSH Wet 2018 T WA T &A1 Ugeh 3foid foham 2
(A) d.TEET (B) e Ey  (C) fodamwe (D) sfief e

93. What is the India’s rank in the 2018 Inclusive InternetJndex (III), which is
recently released by the Economist Intelligence Unit«?
(A) 24 (B) 42nd (C) 47h (D) 52nd
RIS Sectioid (e o GRT BT &l H TR, STegiadl sei-ie s (I11) 2018 |
W 1 S AT & ?
(A) 24aT (B) 42df (CONATaT (D) 52aT

94. Which city hosted the 2" India — Koxea Business Summit 2018 ?

(A) New Delhi (B) Mumbai (C) Ahmedabad (D) Bengaluru
fopdl T8 A GEX WA —hI T SATI AT - 2018 1 HSTarTH1 3h1 g 2

(A) et (B) T (C) JEHqETe (D) Sefe

95. What is the Zero Discrimirfation Day Compaign for the year 2018 ?

A; Whatnot _______o EB atnever
C) Whatif & D) Whatsure
a4 2018 % foru SHigedrewre feaw SRR w1 g 2

(A) FITE (B) o hft &

(C) e (D) @MU (WR)

96. The world’s4argest solar park has recently launched in which state ?
(A) Karnataka (B) Odisha_ (C) Maharashtra (D) Gujarat

for9dl hl T8 SS1 G UTeh a1 a1 1 ford U= | werfud fepan a2
(A) e (B) aAifgwm (C) wewg (D) T

97. Who has won the lifetime achievement award at the 2018 ‘Political and
Public Life Awards’ in UK ?

A) Amitabh Bachchan B) Boman Irani
C) Jackie Shroff _ D) Shatrughan Sinha .
9. CH qifAfeshed UUS YlseTeh o™ UATSH 2018’ ¥ TohT AIS% 2189 THIaH=

TaTe S g ?
(A) A s== (B) SHASH (C) IH A% (D) WA g
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98. The 2018 cultural festival ‘India by the Nile’ held in which country ?
(A) ngerla (B) South Sudan (C) Egypt (D) Tunisia
2018 HI{~°I'>Ic|°b Heicdd “gfean o fg Tger” fohd <o H |wa=1 311 2

(A) TSt (B) ehwiigem  (C) s (D) T

99. Which state government has rolled out ‘Rupashree Scheme’ for marriage of
poor girls ?
(A) Tamil Nadu (B) Odisha (C) West Bengal (D) Assam
feh® TS TR A TS She13t o forag o i “Eusft JieHn =g 8 2

(A) AT (B) afifssm (C) 4. s (D) 3|

100. What is the theme of the 9" edition of Women’s Film Festival-2018 ?
(A) Learnto Live (B) Take Freedom
(C) Meet w1th Yourself (D) Travelling Women
nfgeT Thed Biteaai-2018 o 9d FEhTUT shi AT I & ?
(A) Gﬂ?[ i@l (Learn to Live)
(B) E?H gISU (Take Freedom)
(C) w3 ¥ fufelw (Meet with Yourself)
(D) It ufgelt (Travelling Women)

101. As ‘Flower’ is related to ‘Petal’, in the same/way " “Book’ is related to
%’Q) Pages (B) Content (C)y Author (D) Library
IO T T TGS W @, 9 E T deed 8
(A) 9Bi® (B) faw-aegg \(C) @@= 4 (D) g&iehie™ ¥

102. Which of the following is differentfrom the rest ?
frefafad 9 & = a1 = iz 2
(A) 144 (B) 169 (C) 256 (D) 288

103. How many letters arg ‘there between 8™ letter from left and 7™ letter from
right in the English.alphabet ?
H%—sﬁ SUTHTCAT <h, 10 # 8o T ST T | 79 318 o o9 Pt fohad G & ?
(A) 7 (B) 8 © 9 (D) 11

104. How many mmeaningful English words can be formed with the third, the
fifth, the seventh and the ninth letters of the word ‘DOWNGRADED’ once
in each word ?

(A) One (B) Two (C) Three (D) More than Three

g ‘DOWNGRADED’ & e, qfeid, Fiedl a1 1 317 & % fera 3reiqul

3T6c ST 1T Hehd &, S 19 Shis 3T Tcish I1ec H shael Ueh &l ST fotam S 2

(A) T B) & (C) (D) & sferh
105. If “WATER’ is written as ‘“YCVGT’, then what is written as ‘HKTG’ ?

Ife ‘WATER’ 1 ‘YCVGT’ forat se, &t ‘HK TG’ & = fer@ Sraem 2

(A) IRFE (B) FIRE (C) REFI (D) ERIF
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106. Sohan ranks seventh from the top and twenty-sixth from the bottom in a
class. How many students are there in the class ?
TIEA 1 el H TN SHW I Fradi ad A & Sesfiaat 31 7 | a1 ° Hof fohad
foremeff &
(A) 31 (B) 32 (C) 33 (D) 34

107. Pointing towards a boy Veena said, “He is the son of only son of my
grandfather.” How is that boy related to Veena ?
(A) Uncle (B) Brother (C) Cousin (D) Nephew
Teh TTgoh oh! AW SIM hid §U ST  hal, “ag W el o ghaild I3 ol IF
2 |7 I8 ekl a1 8 form ag A el B ¢

(A) =TT (B) Wig (C) == (D) Wt
108. If South-West becomes North, then what will North-East be ?

(A) North (B) South-East (C) South (D)™ East

e gferur—ufvem 3Tt 81 S & @ ST-gd 1 8 2

(A) T (B) sfEam-gd  (C) sfam (D) T

109. Iftoday is Wednesday, then what will be the dayafter 84 days ?
(A) Monday (B) Tuesday (O), Wednesday (D) Sunday
¢ 3T §UaR 8 a1 84 T a11g =6 &1 feagrm?
(A) HHIR (B) HIER (C) g9aR (D) @R

110. The age of father is thrice of his~son. If the sum of their ages is 48 year,
what is the age of father ?

(A) 30 year (B) 32year (C) 36 year (D) 40 year

T <t 311y o <1 Y W T R | 3fe SR 3y A 48 9 &, ot fuar
I TR 2

(A) 3099 @) 324 (C) 364 (D) 4094

111. The chalcolithic or stone-copper phase continued upto about
(A) 800 BC (B) 1000 BC (C) 1200 BC (D) 1400 BC
Ueh YT UTNTIT-TH hled ST LT T

(A) 800 BCd® (B) 1000 BCd® (C) 1200 BC % (D) 1400 BC d%h

112. Rice cultivation is associated with the Harappan site of
(A) Kalibangan (B) Lothal (C) Kot Diji (D) Ropar
T <hl Wl Tord ST T & 1Y Haiod &l 8 ?
(A) FreflEE  (B) (C) #rds (D) Uve
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113.

114.

115.

116.

117.

118.

119.

120.

The Rig Veda contains

A) hymns in honour of the gods

B) yajnas to be performed

C) rituals to be adopted by the people
D) history of the Vedic period

(A) IS T T HATT

(B) fRISM g aw

(C) AN o gRT 3T9TH o gq {fa-Tars
(D) afces wret =1 sfagm™

The chief diety of the Sangam age was

(A) Vishnu (B) Murugan (C) Shiva (D) Indra
I T oh TG ¢d A

(A) fosy (B) #E™ (©) fm (D) ¥3
Hiuen Tsang described the state of Kamboja as

(A) Nimar (B) Pav(g (C) Rajgriha (D) " Rajpura

RTENT < SIS T Sl Gui T
(A) MIR%®IH (B) Wh&IH (C) TG HEIH (D) TSI TIH
The trident — shaped symbol of Buddhism doessnét/represent
(A) Dhamma  (B) Nirvana (C)+ Sangha (D) Budha
¥ T TS 3TRR 3T Jciteh 1A Ta1 il

(A) &m (B) fiaim (@), 5d (D) 98
Which of the following was not a‘séa.port in Mauryan times ?

A) Tamralipti B) Bharukachchha

C) Suparaka (D) Paithan

H ¥ IF |1 Ueh Hidihchehlct § Tz Ta gl o1 ?

(A) dEAE  (B) Wewest  (C) gWH (D) Yo
Who is responsible for'the development of the Indian theatre by introducing

the use of the curtain?
(A) The Kushan§(B) The Shakas (C) The Greeks_ (D) The Romans

ISR g AR T (TRwer) < forehrd o Toft i fgR B 2

(A) ool (B) W (C) e (D) THA
The Samkhya system was propounded b
(A) Patan ali (B) Kapila ( Charaka (D) Lokayata

1T g3 ol T feram T 2
(A) TASA S gRT (B) HUA R G (C) TWhhgll (D) AR & gRI

Harisena is the author of

A) Allahabad Prasasti B) Eran Prasasti
gC Junagarh Prasasti ng Mehrauli Prasasti
zhém IGICETK
(A) STRTETG JITEd (B) W1 SIITEd
(C) SETTE J=Ifed h (D) TEdtelt guIfed <
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121. The founder of Rashtrakuta kingdom was
(A) Amoghavarsha (B) Indra III
(C) Govinda III (D) Dantidurga
TR HTHTSY h HEATTH o

(A) ImEEy (B) S50 (C) Mfa= 1l (D) <fagd

122. The Suhrawardi order was established mainly in

(A) North India (B) North — East India

©) Western India (D) North — West India

gelea] g HE&Ad: TATUd feham T &1

(A) IR IR H (B) IW-ai Wi §

(C) ufyadt yra o (D) ST-ufverf yra o
123. Who re-introduced the Jagir system ?

(A) Razia Sultan (B) Firoz Tughlaq

(C) Alauddin Khahl (D) Giasuddin Balban

ST ST o q4: Tohee o] fekarm 2

(A) gear | (B) Ut qeteht

(C) IAATIEN Getail 4 (D) TETgER seteH A

124. Who defeated Humayun at the battle of Chaudsa,n 1539 ?
(A) Sher Shah (B Bahadur Shah (C)y, Rana Sanga (D) None of these
1539 4 <191 1 @ieT8 1 foher gumy st wifeta fehar o 2

(A) AWMEA (B) wegmmed., \(C) WmEm < (D) T & %8 Aa

125. In Wthh year did the East India, €ompany establish a factory in Bengal ?
ford oY St Sfean wrol 3 STy Ueh theredl TATIUA <Al off 2

(A) 1650 (B) 1651 (C) 1652 (D) 1649
126. Who was the founder of th¢ Kuka movement ?

(A) Balak Singh (B) Inayat Ali

(C) Bhagat Jawahar Mal (D) Abdul Wahab

ST STTGICT,ShT HETeh hi- AT ?

(A) STThJoE (B) SARIA 3Tt

(C) WIId SIdT8l Het (D) 3Asged 98

127. In 1908, Bal Gangadhar Tilak was imprisoned for six years and was sent to
(A) Naini Jail (B) Yeravadajail(C) Mandalay (D) Singapore
1908 & STeT TMTER fiicTeh o1 ©: I b1 HRIATE 3T 37 372 Ut Tz 7 o
(A) FIa®  (B) WagSdad (C) HEd H (D) TR =

128. At the northern most point of India, the rays of the sun are always

(A) Vertical (B) Oblique (C) Dlrect (D) None of these

YT o ITRAH YT H T3 ﬁ%ﬂﬁ

(A) s (B) foeeh <C> #ra‘r (D) ¥ & SIS Tel
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129.

130.

131.

132.

133.

134.

135.

Patkai Bum and Dapha Bum are the important ranges of the

(A) Lesser Himalaya (B) Aravalli

(C) Shiwalik (D) Purvanchal

Uehs §H 3TN T 1 Hewyul AT 8

(A) Tt femrer <61 (B) 3wraeh hi

(C) Traferss st (D) yat=et i

The Indo — Gangetic plains of Indian sub-continent are examples of
(A) depositional plains (B) delta plains

(C) erosional plains (D) structural plains
WA STHETEI o e —7T o He 3erew 8

(A) Fafud fem % (B) Sl HEM &

(C) AWGH AgH &+ (D) GEATH BgH &
Which of the following rivers makes an estuary ?

(A) Krishna (B) Mahanadi

(C) Godavari (D) Bhagirathi — Hooghly
1 = €1 7l Th HE 1 ST B 2

(A) Fom (B) WEMd (C) TeEq (D) wriReft-gredt

Winter Rainfall in Tamil Nadu is due to

(A) retreating monsoons (B) *«emperate cyclones
(C) trade winds (D) “north — south monsoons
AT § ffaehTefi= T 3l SR &
(A) Tat amem (B) Sfrdrsor wishard
(C) AT gaTd (D) ITR-gferoht aTem
Which of the following isstheymest important oil-bearing state of India ?
(A) Rajasthan (B) AsSsam (C) Maharashtra (D) Bihar
=1 % 9 S 91 YRa ST AEwyul 0o g U9 8 ?
(A) TSIH (B, “s1&m (C) waWrg (D) feEr
Kodarma in Jhatkhand is famous for
(A) cementfactories (B) mica mining
(C) leatherawoOrks (D) None of these
STEUE | ISl
(A) Hu=< HREHi & fore (B) 319 @ & foiu
(C) e 3Em o forg (D) &8 & g Tel
Most of India’s cultivated land is under o
gA; shifting cultivation EB; sedentary cultivation

C) tribal cultivation D) dry zone cultivation
WL <h! STTURITT HiY YW &
(A) TIFTHR et o Aef (B) TUMEG H¥ o 31¢H
(C) amfeareh Hfv &% refiq (D) 5 H iy & 37ef

19 Code No. : C-488/2018/Series-A

https://snowstudy.in



136. Which of the following ports is not situated on the Western Coast ?

(A) Tuticorin (B) Kochi

(C) New Mangalore (D) Mumbai

7 o ShIF |1 SQUTTE Jivel de W STafedd el 8 ?

(A) I (B) i (C) AHER (D)
137. Sea weeds are important source of

(A) iron (B) chlorine (C) bromine (D) 1odine

T a1 Aol | &

(A) @rEh (B) #H®  (C) sidia® (D) IREH %
138. The Jarawas are tribes living in

(A) Madhya Pradesh (B) Sikkim

(C) Arunachal Pradesh (D) Little Andaman

SRIETE JATfeare & St e id &

(A) AT Y H (B) Tufewn o

(C) TRl e (D) fafest sum A
139. The Prime Meridian passes through

(A) Paris (B) Greenwich (C)* NewYork (D) Delhi

& AT TSI &

(A) U@ (B) Wafma (O =& A (D) feoeti®
140. Which strait connects Red Sea andIndian Ocean ?

(A) Bab-el-Mandeb (B) Hormuz

(C) Malacca (D) None of these

DI T TA-TATSH AT IR g WA =l St & 2

(A) SE-FAA-HACH (B) ERES

(C) Tt (D) ¥ ° I3 &l
141. The dry wirdd_ Santa Ana’ blows in

(A) Siberia (B) Argentina (C) Switzerland (D) California

S[eh gl “HT=T 31 T &

(A) dEafend (B) WA (C) Wieseis ¥ (D) oIt o
142. ‘The Federal System with strong centre’ has been borrowed by the Indian

Constitution from

(A) USA (B) Canada

(C) United Kingdom (D) France

“HIT hvg; b TV HEI YU <l W o Ffa™ § fiepr foham w8

(A) USA® (B) ST (C) UKd# (D) wEd
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143. Procedure for creation of Legislative Council in states has been described in
which Article of the Indian Constitution ?

TSI H faem qftsg o 7 <l Ik R o |fae o fohd 3T=ee § e & ?

(A) 69 (B) 169 (C) 269 (D) 369
144. To whom is the Council of Ministers responsible ?
(A) Parliament (B) The President of India
(C) Speaker of Lok Sabha (D) None of these
Tt uftee feraes wfa Stamecg 2 2
(A) wwg (B) ¥ = Tgafd
(C) | o J7ee] (D) T ¥ =g T
145. Who decides whether a bill is a Money Bill or not ?
(A) Speaker of Lok Sabha (B) The President
(C) The Prime Minister (D) None of these
13 fadere o faeees & san 78 I8 o fofia e g 2
(A) SHET T (B) Tgufd
(C) wemE (D) T YREAR
146. Which one of the following is not the main jlitisdiction of the High Court of
a state ?
(A) Advisory Jurisdiction (B) Original Jurisdiction
(C) Supervisory Jurisdiction (D) Appellate Jurisdiction
T 1 3 o Teneft T2t o 3= ~ATITet e, oh) I SRR TR & 2
(A) THEITEET STferepR (B) T &ATIIHR
(C) THaeft iR (D) At eETfeehr

147. The constitutional statiis has been given to panchayats under which Article
of the Indian Constitution ?
R AfaeT o, fed)sr=ae & A=did Y=mdl sl GAeieh ol fean T & 2
(A) 241 (B) 341 (C) 343 (D) 243

148. Fiscal Respotisibility and Budget Management Act was enacted in India in
the year
TSRS IR qUT ST Jae Aff=m vra § uriea foram mam o o
(A) 2000 (B) 2001 (C) 2002 (D) 2003

149. Which of the following Constitutional Amendment Acts was said to be a
‘Mini Constitution’ ?

(A) 42 (B) 44" (C) 52 (D) 734
T = g gfaam gsnua stfufrm s i gfaum sarSmang 2
(A) 42at (B) 44at (C) 52at (D) 73at
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150. English is the official language of which one of the following Indian states ?

(A) Nagaland (B) Trlpura ©) Assam (D) Manipur

T fopm et Tt ht Tl AT STt

(A) TFTTS (B) Bqu (©) SR (D) =g
151. The weight of an object would be minimum when it is placed at

(A) north pole (B) south pole

(C) equator (D) the centre of the earth

Toneft =g =T TR 0 © H &1 SITWT 9 38 T&T 914l 3
(A) STHga®  (B) ghrligam (C) ymea@® (D) Joft 6 b

152. Which of the following is preferred for manufacturing a spring ?

(A) Brass (B) Copper (C) Steel (D) Iron

8 o famior o foru fam 9 Tergent TTRendn & ST 8 2

(A) et (B) ™ (C) e (D), &g
153. A concave lens is also known as

(A) Converging lens (B) Diverging lens

(C) Simple lens (D) None'ofithese

Teh 3TIdA i oh! 97 91 & off ST ST R

(A) V@A T (B) M@K E  (C) YU &H (D) 90 & HIg T8I

154. Which of the following is called ‘morning star’ ?

(A) Jupiter (B) Mars (C) Venus (D) Mercury

a8 feg TR A chaloucu%

(A) Fe&id (B) W (C) Wh (D) 4
155. The most abundant metal in.the earth’s crust is

(A) Gold (By\Silver (C) Copper (D) Aluminium

TR Heifereh Sgetet & qref ST et g

(A) @Ol B) W (C) dm (D) TegfafTem
156. Glass 1s best'dgscribed as a/an

(A) Solid (B) Liquid

(C) Super-cooled liquid (D) Occlusion compound

TATE ! 94 o &9 | 399 SRR foham ST 2

(A) 3 (B) &d (C) afa sfifaa ga (D) 3rfremor Afirs
157. Cellulose is a

(A) Pr%tein (B) Fat (C) Hormone (D) None of these

Th

(A) WA (B) =& (C) =HH (D) ST A HLE Tl
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158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Vector of kala-azar disease is

(A) Dragon fly (B) Mosquito (C) Sand fly (D)

I TSR ST T T8 8 ’

(A) $E®TE  (B) =X (C) Hews (D)

Apiculture is associated with

(A) Honey bee %3) Fish (C) Silkworm (D)

‘ 1 qEY

(A) AgmeEid  (B) A E (C) Wmm#HRT (D)

The organ affected by diphtheria is

(A) Kid (B) L (C) Heart (D)
1dney S ung ea

(A) = (B) e €) = (D)

33— 3T 3T T GETa 1 372 7

(A) Td & (B) U B ]

(C) e —H HLIAT (D) & — RHEIAT

et o ommE 7

(A) wgsiife (B) sr=fiwE (C), 578 (D)

“SrferereRt” 1 faradiaTdies 3

(A) 3R (B) 3UIHT (C) ITTIHI (D)

S Wfer3T 9 1 QUL 8 % 1T Eoh,31sq &

(A) YIqH (B) 3fed (©) i (D)

TCEH 5 8 :

(A) &= (B) \ i (C) e (D)

TE IR 2

(A) THI (B) THaw (C) Seham (D)

ECENCA R C ok

(A) @ (B) @eI (C) TErH (D)

IfiTeh 315¢ B

(A) T (B) dfem (C) feramer (D)

‘B’ qUT T IR LI & ’

(A) 318 (B) %3 (C) g (D)

T’ 1 e 8 .

(A) ¥ (B) W (C) fepet (D)

23

House fly

HERTIH]

Lac-insects
NECEEIEIWES]

Throat

pici

AL}

A
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